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QUESTÃO 5 

60

80
× 100% = 0,75 × 100% = 75%

6

48
× 100% =

0,125 × 100% = 12,5%
7

63
× 100 ≈ 0,111 × 100% = 11,1%

QUESTÃO 6 

ℎ 𝑎 sen 𝜃 = ℎ 𝑎⁄
𝐴 = 1 2⁄ × 𝑎 × ℎ = 1 2⁄ × 𝑎 × 𝑎 × sen 𝜃

0 < 𝜃 < 180𝑜 (sen 𝜃)2 + (cos 𝜃)2 = 1 sen 𝜃 = √1 − (cos 𝜃)2 =

√1 − (3 5⁄ )2 = √16 25⁄ = 4 5⁄ 𝐴 = 1 2⁄ × 5 × 5 × 4 5 = 10 𝑐𝑚2⁄ .

𝑂 𝑟

 

𝑎2 = 𝑟2 + 𝑟2 − 2 × 𝑟 × 𝑟 × cos(𝜋 − 𝜃)
cos(𝜋 − 𝜃) = cos 𝜋 × cos 𝜃 + sen 𝜋 × sen 𝜃 = − cos 𝜃 + 0 = − cos 𝜃 𝑎2 = 2𝑟2 + 2𝑟2 cos 𝜃 =
2𝑟2(1 + cos 𝜃) 25 = 2𝑟2(1 + 3 5⁄ ) = 16 5⁄  𝑟2 𝑟2 = 125 16 ⁄

𝑟 = 5√5 4⁄  𝑐𝑚
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QUESTÃO 7 

𝐶 3 × 2

𝑐11 = (−1)1+1 = (−1)2 = 1, 𝑐12 = (−1)1+2 = (−1)3 = −1,
𝑐21 = (−1)2+1 = (−1)3 = −1, 𝑐22 = (−1)2+2 = (−1)2 = 1,
𝑐31 = (−1)3+1 = (−1)4 = 1, 𝑐32 = (−1)3+2 = (−1)5 = −1.

𝐶 = [
  1 −1
−1    1
  1 −1

] 𝐴𝐶

𝐴𝐶 = [
1 1 1
1 2 3

] [
   1 −1
−1   1
   1 −1

] =

[
1 × 1 + 1 × (−1) + 1 × 1 1 × (−1) + 1 × 1 + 1 × (−1)

1 × 1 + 2 × (−1) + 3 × 1 1 × (−1) + 2 × 1 + 3 × (−1)
] =

[
1 − 1 + 1 −1 + 1 − 1
1 − 2 + 3 −1 + 2 − 3

] = [
1 −1
2 −2

]

𝐴 [
𝑥
𝑦
𝑧

] = [
6
6

] {
𝑥 + 𝑦 + 𝑧 = 6,

𝑥 + 2𝑦 + 3𝑧 = 6.

(𝑥, 𝑦, 𝑧) 𝑦 − 𝑥 = 𝑧 − 𝑦 2𝑦 = 𝑥 + 𝑧
2𝑦 + 𝑦 = 6 3𝑦 = 6 𝑦 = 2

𝑦 = 2 2 + 2𝑧 = 0 𝑧 = −1
𝑥 + 2 − 1 = 6 𝑥 = 5

(𝑥, 𝑦, 𝑧) = (5,2, −1)

QUESTÃO 8 

𝐴 𝐵 𝑦 = √𝑥 𝐴 = (𝑎, √𝑎) 𝐵 = (𝑏, √𝑏)
𝐴, 𝐵 𝐶

[
𝑎 √𝑎 1

𝑏 √𝑏 1

−√𝑎𝑏 0 1

]

|
𝑎 √𝑎 1

𝑏 √𝑏 1

−√𝑎𝑏 0 1

| = 𝑎√𝑏 − √𝑎√𝑎𝑏 + 0 + √𝑏√𝑎𝑏 − 𝑏√𝑎 − 0 =

𝑎√𝑏 − √𝑎√𝑎√𝑏 + √𝑏√𝑎√𝑏 − 𝑏√𝑎 = 𝑎√𝑏 − 𝑎√𝑏 + 𝑏√𝑎 − 𝑏√𝑎 = 0

𝑂 = (0,0) 𝐴 = (𝑎, √𝑎)

𝑑𝑂𝐴 = √(0 − 𝑎)2 + (0 − √𝑎)
2

= √𝑎2 + 𝑎

𝐴 = (𝑎, √𝑎) 𝐵 = (𝑏, √𝑏) = (3, √3)

𝑑𝐴𝐵 = √(𝑎 − 3)2 + (√𝑎 − √3)
2

𝑑𝑂𝐴 = 𝑑𝐴𝐵 (𝑑𝑂𝐴)2 = (𝑑𝐴𝐵)2 𝑎2 + 𝑎 = (𝑎 − 3)2 + (√𝑎 − √3)
2
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𝑎2 + 𝑎 = 𝑎2 − 6𝑎 + 9 + 𝑎 − 2√𝑎√3 + 3

6𝑎 + 2√3𝑎 − 12 = 0 2 𝑐 = √3𝑎, 

𝑐 𝑐2 + 𝑐 − 6 = 0 𝑐 =
−1±√12−4×1×(−6)

2×1
=

−1±√25

2
=

−1±5

2
𝑐

𝑐 =
−1+5

2
= 2 2 = √3𝑎 𝑎 = 4 3⁄ .

 
 

QUESTÃO 9 

𝑓(𝜋 2⁄ ) =
2+sen(𝜋 2)⁄

2+cos(𝜋 2⁄ )
=

2+1

2+0
=

3

2
𝑓(−𝜋 2⁄ ) =

2+sen(−𝜋 2)⁄

2+cos(−𝜋 2⁄ )
=

2−1

2+0
=

1

2
𝑓(𝜋) =

2+sen(𝜋)

2+cos(𝜋)
=

2+0

2−1
= 2

𝑓(𝜋 4⁄ ) =
2+sen(𝜋 4)⁄

2+cos(𝜋 4⁄ )
=

2+√2 2⁄

2+√2 2⁄
= 1

𝑓(𝜋 2⁄ ) + 𝑓(−𝜋 2⁄ ) =
3

2
+

1

2
= 2 𝑓(𝜋) 𝑓(𝜋 4⁄ ) = 2 × 1 = 2

2+sen 𝜃

2+cos 𝜃
= 2 2 + sen 𝜃 = 4 + 2 cos 𝜃 2 cos 𝜃 = sen 𝜃 − 2

4(cos 𝜃)2 = (sen 𝜃)2 − 4 sen 𝜃 + 4 (sen 𝜃)2 +
(cos 𝜃)2 = 1 4(1 − (sen 𝜃)2) = (sen 𝜃)2 − 4 sen 𝜃 + 4 5(sen 𝜃)2 − 4 sen 𝜃 = 0

sen 𝜃 (5 sen 𝜃 − 4) = 0 sen 𝜃 = 0 sen 𝜃 = 4 5⁄
sen 𝜃 = 0 cos 𝜃 = −1 sen 𝜃 = 4 5⁄ , 

cos 𝜃 = − 3 5⁄ .

QUESTÃO 10 

9 16

 

𝑏 × 𝑐 × 𝑐 = 16 × 10 × 10 = 1.600 𝑐𝑚3

ℎ

ℎ2 + (𝑐 2)⁄ 2
= 𝑎2 ℎ2 = 132 −

52 = 169 − 25 = 144 ℎ = 12 𝑐𝑚

1 3 × 𝑐 × 𝑐 × ℎ = 1 3 × 10 × 10 × 12 = 400 𝑐𝑚3⁄⁄
1.600 + 400 = 2.000 𝑐𝑚3
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